COST TO DATE OF LEGAL CHARGES RE. CENSURES, FOIA, AND RELATED COURT CASE

	Invoice Date	Amount	Notes
Harris & Literski	1/7/2025	816.75	
Foster Swift	1/8/2025	192.50	unauthorized charge
Foster Swift	2/20/2025	302.50	unauthorized charge
Foster Swift	2/20/2025	357.50	unauthorized charge
Harris & Literski	3/11/2025	1,589.50	

TOTAL 3,258.75



The Law Offices of Harris & Literski 123 Brighton Lake Rd., Ste. 205 Brighton, MI 48116 810-229-9340 Ph|810-229-4764 Fax

Tyrone Township Clerk

Invoice

Invoice Number

234183

Invoice Date

03/11/2025

Payment Due On

03/25/2025

Amount Due

\$9,942.75

Pay Now



Scan to pay

Tyrone Township - General

Fees

Date	Description	Rate	Hours	Total
01/02/2025	TX with trustee 2x regarding various issues. TX with clerk Pam.	\$165.00	0.33	\$55.00
01/02/2025	RE: Jack Hascall. Draft motion to enforce, brief in support and affidavit of supervisor.	\$165.00	3.00	\$495.00
01/02/2025	Research and draft complaint regarding Farmhill Drive	\$165.00	3.00	\$495.00
01/07/2025	Review moratoria issue, email with clerk.	\$165.00	0.33	\$55.00
01/07/2025	Prepare and attend board meeting.	\$165.00	3.50	\$577.50
01/08/2025	TT v In Sook Kim- prepare Summons and file w/Court.	\$110.00	0.40	\$44.00
01/08/2025	TT v Hascall - prepare Praecipe, Notice of Hearing, Proof of Service, notice to clietnt, letter to Judge's office, file all with Court.	\$110.00	0.50	\$55.00
01/08/2025	Research open meetings act and training sessions. Email to Jennifer.	\$165.00	1.00	\$165.00
01/09/2025	Email regarding Anderson v Tyrone Township to Jennifer and Sara.	\$165.00	0.20	\$33.00
01/13/2025	Answer email from 1/11, review email today, tx with Sara, make changes to resolution withdrawing charges against PC.	\$165.00	1.00	\$165,00
01/13/2025	Draft malfeasance charge. Make modification.	\$165.00	1.20	\$198.00
01/14/2025	TX with Pam regarding various issues including FOIA, SAD's.	\$165.00	0.33	\$55.00
01/16/2025	TX with clerk Pam.	\$165.00	0.20	\$33.00

451.00

Page 1/6

01/16/2025	Review letter from an attorney regarding Chris and Dean and sensure. Email to Pam.	\$165.00	0.33	\$55.00
01/16/2025	TX with Greg regarding medical marihuana grow operation.	\$165.00	0.25	\$41.25
01/17/2025	TX with various trustees regarding letter from attorney Nick Cursio.	\$165.00	1.00	\$165.00
01/21/2025	Prepare and attend board meeting.	\$165.00	3.25	\$536.25
01/21/2025	TX with Pam.	\$165.00	0.20	\$33.00
01/22/2025	Research open meetings act and closed sessions. Email to Pam.	\$165.00	1.00	\$165.00
01/22/2025	TX with Sara.	\$165.00	0.20	\$33.00
01/23/2025	Prepare and attend oral argument on Schifko appeal.	\$165.00	3.50	\$577.50
01/23/2025	TX with Pam regarding various matters.	\$165.00	0.25	\$41.2
01/24/2025	Research deed restrictions requiring fire suppression system to be enforced by Township. Email to Karie.	\$165.00	1.00	\$165.00
01/24/2025	Email to officers regarding Schifko and McGinn appeal decision.	\$165.00	0.50	\$82.5
01/29/2025	Work on FOIA issue.	\$165.00	0.25	\$41.2
01/31/2025	Locate easement for fire well, email to Pam.	\$165.00	0.33	\$55.0
02/03/2025	TX with Officers and provide status on all the cases.	\$165.00	1.00	\$165.0
02/03/2025	Prepare 2025 version of Tyrone vs Cardinal summons and complaint.	\$165.00	1.00	\$165.0
02/04/2025	TT v Cardinal - update Summons and complaint for re-filing.	\$110.00	0.35	\$38.5
02/04/2025	Prepare and attend board meeting.	\$165.00	2.75	\$453.7
02/07/2025	TX with Nathan Patrusak, atty for Schifko and McGinn.	\$165.00	0.25	\$41.2
02/07/2025	Review ordinance. TX with Jamie Stewart, attorney for Anderson in the Anderson ν Tyrone Township case.	\$165.00	0.50	\$82.5
02/10/2025	TT v Cardinal - Prepare Notice and email to client of hearing dates.	\$110.00	0.25	\$27.5
02/10/2025	TX with Jennifer, Pam and Sara.	\$165.00	0.75	\$123.7
02/10/2025	TX with Herman	\$165.00	0.33	\$55.0
02/11/2025	TX with Greg regarding Tyrone Woods expansion meeting.	\$165.00	0.20	\$33.0
02/11/2025	TX with Pam.	\$165.00	0.25	\$41.2
02/11/2025	TX with Jennifer.	\$165.00	0.25	\$41.2
02/11/2025	TX with Sara.	\$165.00	0.20	\$33.0
02/14/2025	RE: Jack Haskall. Draft order to show cause, hand deliver to court.	\$165.00	1.50	\$247.5
02/14/2025	TX with Herman	\$165.00	0.20	\$33.0
02/14/2025	TX with atty Nick Curcio.	\$165.00	0.20	\$33.0
02/17/2025	TT v Hascall - Send OSC out for service; draft notice and email to client.	\$110.00	0.40	\$44.0
	TX with Greg 2x, tx with Jennifer and Pam, tx with Herman, tx with Sara.	\$165.00	2.50	\$412.5

Invoice No.: 234183

02/18/2025	Review agenda and packet, draft document for meeting.	\$165.00	2.00	\$330.00
02/18/2025	TX with Trustee Sara.	\$165.00	0.20	\$33.00
02/18/2025	Review Bear Naked Woods matter. Draft enforcement letter.	\$165.00	1.75	\$288.75
02/18/2025	Prepare and attend board of trustees meeting.	\$165.00	4.00	\$660.00
02/20/2025	Review PC handbook, email to Ross regarding site visit by PC.	\$165.00	0.33	\$55.00
02/20/2025	TX with Pam, send email regarding Anderson v Tyrone and schifko v Tyrone to Pam for insurance application reasons. Research.	\$165.00	1.00	\$165.00
02/21/2025	Text with Jennifer regarding property tax poverty exemption.	\$165.00	0.20	\$33.00
02/21/2025	Revise Bear Naked Woods enforcement letter.	\$165.00	0.25	\$41.25
02/25/2025	Review Ropeta v Tyrone Township lawsuit, email to officers and trustees. TX with several trustees.	\$165.00	1.00	\$165.00
02/25/2025	Final revision to Bear Naked Woods enforcement letter.	\$165.00	0.25	\$41.25
02/26/2025	TX with Pam, TX with Sara, review attorney general opinion. Email with Sara.	\$165.00	1.25	\$206.25
02/26/2025	Email to Greg regarding Bear Naked Woods.	\$165.00	0.15	\$24.75
02/26/2025	Review ordinance and county code, draft enforcement letter regarding 7415 Linden Road.	\$165.00	2.00	\$330.00
02/26/2025	Records search for residence of In-Sook Kim in Tyrone vs Kim.	\$165.00	0.67	\$110.00
02/27/2025	File Affidavits of Service w/Court.	\$110.00	0.25	\$27.50
02/27/2025	TX with Sara. TX with Herman.	\$165.00	0.33	\$55.00
02/28/2025	TX with atty John Gillooly. Emails.	\$165.00	0.75	\$123.75
02/28/2025	TX with Jennifer.	\$165.00	0.20	\$33.00
02/28/2025	TXT with Sara.	\$165.00	0.20	\$33,00
			56.71	\$9,242.75

Expenses

Date	Description	Cost	Qty	Total
01/09/2025	Filing Fee: TT v In Sook Kim	\$175.00	1.00	\$175.00
01/09/2025	Filling Fee: TT v Hascall	\$175.00	1.00	\$175.00
02/06/2025	Filling Fee: Complaint TT v Cardinal	\$175.00	1.00	\$175.00
02/27/2025	Process Service: Jack Haskell	\$175.00	1.00	\$175.00
				\$700.00

\$700.00 484.00

Invoice No.: 234183

Subtotal	\$9,942.75	
Total	\$9,942.75	
Prior Balances	\$1,509.75	
Payments Since Last Invoice	-\$1,509.75	
Total Balance Due	\$9 942 75	

Total \$ 1589.50

Invoice No.: 234183